x(x—4)
(2x+3)(7—x)

1. Pemmre merosiom HWHTEPBAJIOB HEPABEHCTBO =

-5
2. PeH.II/ITe METOAOM I/IHTepBaJ'IOB HepaBeHCTBO % g

3. PemuTe HEPABEHCTBO 5
X%+ 3x

=

(x+8)*(x—3) =0

4. Pemmrte HEpaBEHCTBO
P X2+ 5x

5. Peumre HepaBenctBo — < 1.
b

6. Pemmre HepaBEeHCTBO

7. Pemurte HepaBeHCTBO > 1.

(x—1)°
8. Pemmre nBoiinoe HepaBeHcTBO 8X — 16 < x> < 5x—4.
9. Pemmre nBoiHOE HepaBeHCTBO O6x — 9 < 2 <4x-3.
10. Pemmre Hepaserctso (x+4)(x—1)(x—9) < 0.

11. Pewmre nepagenctso (x+5)(x —2)(x—7) > 0.

(x=2)°  (x+1)7
4 T2

<3.

12. Pemmre HepaBEeHCTBO

(-3 (=27

> 1.
3 2

13. Pemmre HepaBeHCTBO
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